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Choose the correct alternatives:                                                                                                               1 x 15 =15 
1. Father of scientific management is 
(a) Henri Fayol; (b) F.W. Taylor; (c) Aristotle; (d) Plato. 
2. Under differential piece rate, workers are paid at 
(a) flat rate; (b) straight rate; (c) different rate; (d) none of these. 
3. Under differential rate, efficient workers are 
(a) benefitted; (b) not benefitted; (c) deprived; (d) none of these. 
4. Under differential rate, inefficient workers are 
(a) benefitted; (b) not benefitted; (c) deprived; (d) none of these. 
5. Maximisation of earning is possible under 
(a) straight piece rate; (b) time rate; (c) differential piece rate; (d) none of these. 
6. The efficient worker produces_____ than/to the standard output. 
(a) more; (b) less; (c) equal; (d) more or equal. 
7. The inefficient worker produces_____ than/to the standard output. 
(a) more; (b) less; (c) equal; (d) more or equal. 
8. The efficient worker takes________ of standard time. 
(a) more or equal; (b) less; (c) equal; (d) none of these. 
9. The inefficient worker takes________ of standard time. 
(a) more or equal; (b) less; (c) more; (d) none of these. 
10. If the efficiency percentage is below 100, then he/she is known as 
(a) efficient; (b) inefficient; (c) super efficient; (d) none of these. 
11. According to Taylor’s differential piece rate system, efficient workers get 
(a) 100% of piece rate; (b) 80% of piece rate; (c) 120% of piece rate; (d) none of these. 
12. According to Taylor’s differential piece rate system, inefficient workers get 
(a) 100% of piece rate; (b) 80% of piece rate; (c) 120% of piece rate; (d) none of these. 
13. The efficiency percentage of worker A is 
(a) 70; (b) 125; (c) 87.5; (d) none of these. 
14. Earning of B is 
(a) 120; (b) 56; (d) 60; (d) none of these. 
15. Earning of A is 
(a) 120; (b) 56; (d) 60; (d) none of these. 
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